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c
[ DCTRACK_DATA.INC ------ data for dc tracking

c BDC(box), FDC1K, FDC2, FDC3 for Kappa test, May-2089
c 5-Apr-2009 Kobayashi

¢ Coordinate

¢ X : -> beam right

c Y:->up

¢ Z: -> downstream

c

c DC_Plane

c

c  Itype: 1 2 3 4 5 6 7

¢ Name: BDCx BDCy FDCix FDCly FDC2 FDC3x FDC3y
¢ ID_Plane: 1:5 6:10 11:14 15:18 21:24 31:35 36:39
¢ #Planes: 5 5 4 4 4 5 4

c

c Z direction in mm : Order=IP -

c

data zpos/ 1ZPOS(npl_dc_max)
BDC x1:x5, yl:y5, z=0 at downstream side of downstream AL plate
1" -60.0, -160.0, -260.9, -360.0, -460.0, 1bx1:bx5, bxl is downstream
1 -110.0, -210.9, -310.0, -410.0, -510.0, !byl:byS, byl is downstream
1bx1 is closest to the target
¢ FDCIK x1:x4, yl:y4, z=0 at downstream side of ?77?

n

1 -255.0, -195.0, -135.0, -75.0, Ifix1:fix4
1 -225.e, -165.0, -1l05.0, -45.@, 1flyl:fly4
1 2%0.e, 11d=19:20(2) empty

¢ FDC2(large Hex) x1:x4, z=0 at dowmstream side of AL window frame ?
1 -112.0, -94.0, -76.0, -58.0, 1f2x1:f2x4, f2x1 is upstream ?
1 6%0.0, 11d=25:30(6) empty

¢ FDC3(RIPS DC) x1:x5, yl:y4, z=0 at downstream side of AL plate
1 -460.0, -360.0, -260.0, -160.0, -60.0, 1f3x1:f3x5, f3x1 is upstream
1 -410.0, -310.0, -210.0, -110.0/ '3y1:f3y4, f3yl is upstream

_data.inc

<
c Position of wires in the plane {mm]  -~----
<

data off_c/ 1 OFF_.C(3,npl_dc_max)
! pos = p(1)*(iw-p(2))+p(3) [mm]
¢ BDCx: x1:x5, x1' x2 x3' x4 x5', x=0 at center
1 -18.0,4.5,0.0, -18.0,4.0,0.0, -18.0,4.5,0.0, 1bx1:bx3
1 -18.0,4.0,0.0, -18.0,4.5,0.0, 1bx4:bx5
¢ BDCy: yl:yS, yl' ¥2 y3' y4 y5', y=0 at center
1 -18.0,4.5,0.0, -18.0,4.0,0.0, -18.0,4.5,0.0, 1byl:by3
1 -18.0,4.0,0.0, -18.0,4.5,0.0, tby4:byS
c  FDCIKY: x1:x4

1 50.0,6.0,0.2, 50.0,6.5,0.0, 1f1x1:fix2

1 50.0,6.5,0.0, 50.0,6.0,0.0, 1f1x3:fix4
¢ FDCIKy: yl:y4 .

1 50.0, ,0.0, 50.0, ,0.0, Tfiyl:fly2

1 50.0,6)5,0.0, 50.0,679,0.0, 1f1y3: fly4

1 6%0.0, 12 dummy (*3)
< A x=0 at wirel on f2xl

1 21.0,%, (5,0.9, 1f2x1:F2x2

1 7i.0,4R,0.0, 21.0,§3%5,0.0, 1£2x3: f2x4

1 18+*0.90, 16 dummy (*3)
¢ FDC3x: x1:x5, x1' x2 x3 x4' x5, x=0 at wirel.5 on f3x1

1. 40.0,1.5,0.0, 40.0,1.0,0.0, 40.0,1.0,0.0, 1£3x1:£3x3

1 40.9,1.5,0.0, 40.90,1.0,0.0, 1f3x4:f3x5
c FDC3y: yl y2' y3' y4, y=0 at center

1 -40.0,5.5,0.0, -40.0,6.0,0.0, 1f3y1:f3y2

1 -40.0,6.9,0.0, -40.0,5.5,0.0/ 1f3y3:f3y4
c
cc Wire Search List ----------ommmmmcoconcnne -

c
¢ #planes in each group )
data NLISTXY/ S, S5, 4, 4, 4, 5, 4/ INLISTXY(itype_max)

T ST Y

c
¢ list of planes in each search type
data LISTXY_LR/  ILISTXY_LR(npl_xy_max,itype_max)

1, 2, 3, 4, 5, 1Bx : :
6,7, 8,9,10, I8y
11, 12, 13, 14, o, IF1x

16, 17, 18, 9, !Fly

21, 22, 23, 24, o, 1F2x

31, 32, 33, 34, 35, |IF3x

36, 37, 38, 39, o/ IF3y

PREPRR &R
.
7]

c
€C LR combingtions ==-== e s s o el

¢ .
¢ dimension is for npl_xy_max=4, 2**npl_xy_max
c common/ resolve_lr/ lr(npl_xy_max,2**npl_xy_max)
data ir/ ILR combination
+1,+1,+1, 41,41, -1,+41,41,+1,+1, +1,-1,+1,+1,+1, -1,-1,+1,+1,41,
+1,+41,-1,+1,+1, -1,+1,-1,+1,+1, +1,-1,-2,41,+1, -1,-1,-1,+1,+1,
+1,+1,+41;-1,+1, -1,+41,+41,-1,+1, +1,-1,+1,-1,+1, -1,-1,4+1,-1,41,
41,41,-1,-1,41, -1,41,-1,-1,41, +1,-1,-1,-1,+1, -1,-1,-1,-1,+1,
+1,41,41,41,-1, -1,41,+1,+1,-3, +1,-1,+1,+1,-1, -1,-1,+1,+%,-1,
+1,41,-1,41,-2, -1,41,-1,+1,-1, +1,-1,-1,+1,-1, -1,-1,-1,+1,-1,
+1,+1,41,-1,-1, -1,+1,+1,-1,-1, +1,-1,+1,-1,-1, -1,-1,+1,-1,-1,
+1,41,-1,-1,-1, -1,41,-1,-1,-1, +1,-1,-1,-1,-1, -1,-1,-1,-1,~1/
+1,41,+1,+1, -1,+1,+1,+1, +1,-1,+1,+1, -1,-1,+1,+1,
+1,+41,-1,+1, -1,+1,-1,+1, +1,-1,-1,+1, -1,-1,-1,+1,
+1,+1,+1,-1, -1,+1,+1,-1, +1,-1,+1,-1, -1,-1,+1,-1,
+1,41,-1,-1, -1,41,-1,-1, +1,-1,-1,-1, -1,-1,-1,-1/

PRRERPRRR PR

1
1
1
1

search list
data LISTXY/ ILISTXY(npl_xy_max,list_maxtimes,itype_max)

OO =0 A .- —

Default parameters

‘ck_data.inc

¢  Minimum #planes for storing tracks. minimum 3 planes
data MIN_TRACK/ 3, 3, 3, 3, 3, 3, 3/ IMIN_TRACK(itype.max)

¢ chi square limit
data chi_limit/ 10.3mm 3*sigma limit
1 0.9, 1.7, 2.5, 3.3, 4.1, 4.9, 0.,0.,0./

¢ max deviation in "mm"

data wire_hit_cut/ npl_dc_max*1.5/ tdeviation in mm
¢ factor for evatuating deviation

data XFAC/ 1.0/

c
¢ tracking "itype"? 1 2 3 4 5 6 7
c bx by fix fly f2x f3x f3y

data IONOF_TRACK/ @, @, @, @, 0, @, 0/ 1TONOF_TRACK(itype_max)

¢ save deviations into analyser output
data iflag_dev_save/ 1/

10¢



1) Files :
‘Directory structure :
~/exp/analys/eff
Detector/Particle/*
bdc
fdcl
fdc2
fde3
beta
nl4

Data files to be editted during runs:
bdc/*/bdc_eff.dat
fdcl/*/fdcl_eff.dat
fdc2/*/fdc2_eff.dat
fdc3/*/fdc3_eff.dat

Loop followings:
enter HV values,
paste eff results,

After these loops, convert files to individual data files Iike :
% sh ../../sort_eff@2.sh fdc3_eff.dat

. soti-eff02
Then, you can find : - o)
bdcxl.eff bdcx2.eff bdex3.eff ... Hera (80>

Plot files
bdc/*/bdc_eff.tdr
fdcl/*/fdcl_eff.tdr
fdc2/*/fdc2_eff.tdr
fdc3/*/fdc3_eff.tdr

You have to modify boundaries for x and y axes, which are defined at
the very early lines:
define value yliml=-5
define value ylim2=105
define value x1im1=1500
define value x1im2=1900

X axis limits should be modified depending on the HV ranges.

In case of beam runs, y limitation will be OK as defaults.
If plateau has not reached to 100 %, you can modify y limits.

All you have to do after boundary modification is :
% td bdc_eff,tdr

Interior the main td file, include commands are used like:

define string efffile="fdc3xl.eff"
include eff_skel.tdr

In the eff_skel.tdr file, string contained in "efffile" variable is
refered several times using "s_efffile". ]

eff_skel.tdr should be editted if prteff_user output format is
changed.

So, you need not modify the include td file.

The eff_skel.tdr file have to be located in the same directory of
bdc_eff.tdr or something. So, the file is symbolically linked to each
; -
. directory. :

10¢

1

bde_x1 bde_x2 bde_x3 bde_x4 bde_x5

e {fHe‘foF size2
or 1 se-lsfwboi P size 2

“r plot hlus

40

20f-

#1/bin/sh Name = 1F AXLPAL (BCTE"!

targ=eff_sfd. dat nactt fhove/comn/
iF [ -n "$1" 1; then Sofi-e‘;.’r/sdﬂ‘-efwz

f targ=$1 / Hv 'VA@L?

#prog=/home/r'ips/common/analys_util/so t_eff/sort_effo1 Aars. - - =
progz/mntZ/common/anulysis/sort_eff/sort_e'Fbe ;(ML
3

# backup only 1 time for avioding fortran file io error as
# open: 'new' file exists

for 1 in * eff
do

mv $i $i~
done

) $prog $targ

# end of script
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VAN 52°C

1o @ 0° £5::17r0R.

hoo . —b (380 —of
1130 — A ~[OmA

1380 — ~mhA.

5‘/2
FDC3 o @@,

. ré 7 /
wifemW}EQ%l X' x X x'x OY\(Y“(

: 800/4p = IS
L;:Z] /

40 mn

e s s S e |
F———w—-——J“

14

00,5 32058 3211.2 3216.5
ID=1.N=33641 ID=2.N=37858
FDC3xl P

2000

9 L Q

3400.5 3405.8 3411.2 34165 3500.5 3505.8 3511.2 3516.5
1D=4,N=37080 ID=5N=37797
FDC3x4 FDC3 x5

0
3705 3710 3805 3810

: ID=7.N=36404 ID=8,N=35800
i FDC3y2 FDC3y3

2009/05/02 09.00

Q

3300.5 3305.8 3311.2 3316.5
1D=3,N=38609
FDC3 x3

3605 3610
ID=6,N=39259
- FDC3yl

4000
3000
2000 o

1000
0
3905 3910
ID=9,N=38149
FDC3y3

‘5{'00/46' =70
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canannn

2

FDC3 (RIPS DC): x1-x5CID=31- -35), yl-y4(ID=36-39)

9 connectors, 3 blank

3 TDC'S (TDC?,8,9)

Max. 15 wires for x, 10 wires for y

map from ri24. nZ@RIPS

1< 9,3102,3103,3104,3105, 3106, 3107, 3108,

1 3109,3110,3111,3112,3113, 3114, 3115,

1@32@2 3203,3204,3205,3206,3207,3208,
-1 3209,3210,3211,3212,3213, 3214, 3215, o,

1 3301,3302,3303, 3304, 3305, 3306, 3307, 3308,

1 3309,3310,3311,3312,3313,3314,3315, o,

1 @3402 3403,3404,3405, 3406, 3407, 3408,

1 3409,3410,3412,3412, 3413, 3414, 3415,CD,

1 3501,3502,3503,3504,3505,3506, 3507, 3508,

1 3509)3510, 3511,3512,3513,3514, 3515, 0.

1 3601,3602,3603,3604,3605, 3606 36@7 3608,

1 3609,3610, e, o, o, o,

1D, 3702,3703,3704, 3705 3706 3797 3708,

1 3709 3710@ o, o, o,

1 <p,3802, 3803, 3804, 3805 3806, 3807, 3808

1 3809,3810.C_0, o, s

1 3901,3902,3903,3904,3905. 3906, 3907, 3908

13909,3910, 0, ©, 0, o e, o,

1 16%g,

1 16%0,

1 16%0/

¢ Position of wires in the plane

[mm) -

c

F3%

data off_c/
! pos = p(1)*(iw-
BDCx: x1:x5, x1' x2 x3' x4 x5', x=0 at center

1moe7-1 F3-x1 ¥/
1TDC7-2 F3-x2 K
1TDC7-3 F3-x3 %
1TDC7-4 F3-x4 K’
1TDC8-5 F3-x5 X

1TDC8-2F3-y1 Y

17TDC8-3 F3-y2 Y/
170C8-4 F3-y3 ¥’
17DC9-1 F3-y4-Y

1TDC9-2 blank

1TDC9-3 blank
1TDCS-4 blank

1 OFF_C(3,npt_dc_max)

p(2))+p(3) [mm3

1 -18.0,4.5,0.0, -18.0,4.9,0.0, -18.0,4.5,0.0, !bx1:bx3
1 -18.9,4.0,0.0, -18.0,4.5,0.0, 1bx4:bx5
8DCy: yl:yS, y1' y2 y3' y4 y5', y=@ at center
1 -18.0,4.5,0.0, -18.0,4.0,0.0, -18.0,4.5,0.0, 1byl:by3
1 -18.0,4.0,0.0, -18.0,4.5,0.0, tby4:bys
FDC1Ky: x1:x4
1 50.0,6.0,0.9, 50.0,6.5,0.0, 1Flx1:fix2
1 50.0,6.5,0.9, 50.0,6.0,0.0, 1f1x3:fix4
FDC1Ky: yliy4
1 50.0,6.0,0., 50.0,6.5,0.0, 1f1y1: fiy2
1 50.¢,6.5,0.90, 50.2,6.0,0.0, 1f1y3: fly4
1 6*0.0, 12 dummy (*3)
FDC2x: x1:x4, x1 x2' x3 x4', x=0 at wirel on f2xi
1 21.9,1.9,0.0, 21.9,0.5,0.9, 1f2x1:F2x2
1 21.0,1,0,0.2, 21.9,0.5,0.0, 1£2x3:F2x4
1 18%0.0, 16 dummy (*3)
FDC3x: x1:x5, x1' x2 x3 x4' x5, x=0 at wirel.5 on f3x1
1 40.0,1.5,0.0, 40.0,1.0,0.0, 40.0,1.0,0.0, 1F3x1:f3x3
1 40.0,1.5,0.0, 40.0,1.0,0.0, 1£3x4: £3x5
FDC3y: yl y2' y3' y4, y=0 at center
1 -40.0,5‘5,0‘0 -40.0,6.0,0.9, 1f3y1:f3y2
1 -40.0,6.0,0 ~40.0,5.5,0.0, 1f3y3:f3y4
W, 1S IS, 1%, (S wires i
x T
i
1 2 2
Py o}
3 3
3 3
& |t
Y & s 5
R 55> [
L b
n 4 1
vé\ I 2
—p {3) -85 ¥lq
q 9
o ol
\O 1 _.y(
W
" [F3
\
i3
B
iy
Yy
PG
g

S

- §
ggw i}b ;’,\:ﬁﬁ

\;\:-Jb \

Yzl~/0 WESA vesp
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run333
0.5 05 ¢
04 04
03 03 E
02 02 F
01 01
0 0
0.1 0.4,
02 02
03 -03
04 04
05 20 02w 030w o 200

FDC2X*Xp

05

04

0.3
0.2

0.1

0.1
-0.2
-03

04

-0.5

FDC3Y X*Xp

Fpc3ax

04

02

-0.2

-04

o0
0.05

-0.05

-0.1

T T

ARAREERNNRERRRRRRE}

0.02

-0.02

T

angl <26> =] Qmvac|
= § iz
i mvadd ,

04 02 0 02

Xp_g *dXp_fix

FDC3H 35 Fcan 9+23 i

W ZARD = 2

X_f2_extrap *X_f2

’ N 0x =i4mm
0 .
/
-10
L 1000mm ¥ 4@ = 2mwm
20 -200 0 200 -
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5000
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tdfin] beta all (r341-346)
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Fr F
g 500 j
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0 rm0 2000 5000 o0 0 1000 2000 3000 4000
D=16,N=955970 ID=17.N=1147728
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H v @ [ o
£ (%] Eans s 7000 ; +% e e
o ficé E
F 6000 [
00 o Eaust ]
TS 0 e ﬂ"
F 73 4000 ; Q:LLF r
: J 3000 [ J
A I 2000 | ’
: 1000 E ]
0 1000 2000 3000 4000 0 1000 2000 3000 4000

ID=18,N=2568195

ID=]3N=1263476 Tfnl FDC3

Tfnl FDC2

®

: h¢
FDC‘VQ -h'ackmg +- 7& ]
WIireTTNTDC 3 B —> AATH&EN
PR
X s 4 4 5

X i f2

3 connectors for X, 1 blank(!)
2. connectors for Y, 2 blank

2 TDC's (TDC3,4)

mod y connection

12 wires for X, 5 wires for Y

N onNnnnanA

FOCIK (FDCZAGHIMAC, KEK-DC): X1-x4(ID=11-14), y1-y4(ID=15-18),

1 1101,1102,1103 ,1104,1201,1202,1203 »1204, ! N3-1 DC#1 Xic

1 1301,1302,1303,1304,1401,1402,1403,1404,
1 9,1105,1106,1107,1205,1206,1207, 1208, |
1 1305,1306,1307, 1308, 1405, 1406, 1407,0,

1 1103,1109,1110,1111,1209,121@,1211,1212, 1
1 1309,1310,1311,1312,1408, 1409, 1410, 1411,

1 16*0, !

-2 DC#1 X2c

-3 DC#1 X3¢

1 -4 blank
1 1501,1502,1503,]1601,160241701,17@2,;L@, ! N4-1 DC#1 Yde
11802y o, o, o, .o o, o, o,
1 ©,1504,15 4)1703,;2_01,1;].§03, ! N4-2 DC#1 Yuc
1 9, o, o o, o, o
1

1804, 1805
16*o0, ! -3 blank
1 16%0, , ! -4 blank
c FDC1Kx: xé:i-‘r XL FLez
1°50.016.010.0, 50.0,6,5,0.0, x1:f1x
1 50.0,6.5,0.0, 50.0,6.0}0.0, 1F1x3: Fixa
¢ FDClKy: yl:y4
1 50.0,6.0,0.9, 50.0,6.5,0.0, PR 1lyl:fly2
1 50.0,6.5,0.9, 50.0,6.0.0.0, . 1F1y3: fly4
1 e*0.0, - :

[
:‘ 2
3o
& ;
oy
PR
LIS
= :
8
4

10 q
0 io
PET

- 5

2 %

--5».»—?— -3

% 2

bl * !

‘ 3 25 a5

12 dummy (*3)
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st DC's with beta source

-Mar-2829

:rigger scintillator=upstream

reta source=down stream with 6mm phai collimator

101 BDC -2.7KV, Vth=-0.4V, trig=A*B
302 FDC3 +1.4/-2.5KV, Vth=-0.4V, trig=joker2
y4 was not connected, bad data
303 FDC3 +1.4/-2.5KV, Vth=-0.4V, trig=joker2, after fix y4
304 FDC2 -3.1/-1.98KV, Vth=-0.4V, f=0.64, trig=joker2
305 FDCL +1.7/-2.5KV, Vth=-0.4V, trig=jokerl

306 FDC1 +1.7/-2.5KV, Vth=-0.4V, trig=jokerl source upstream

3-Mar-2009
oker upstream of FDC2, HV=087V + FTA41@ + CFD
D, 173@V-alpha, sigma(u*d)
rigger= joker * HOD, horizontal cosmic ray trigger ?
DC2: -3.1KV/-1.98KV, FDC3=+1.4KV/-2.5KV
7 horizontal cosmic ray trigger, 21:10 19-Mar-2009 -
=/ 8:00 20~Mar-2009, 1548 events
stop for gas bottle change, 2.3K events, 13:40 20-Mar-2009

Q-Mar-2009 13:40
change He+60%CH4 bottle to the 2nd one

308 continue horizontal cosmic ray for FDC2/3, 14:10 20-Mar-2009
- 9.25 k events

0-Apr-2009 N
rig=(A+B)*Joker(200%200 after FDC1)
osmic ray trigger?

1309 20:00 10-Apr-2009, trig=(A+B)*Joker(20x2@ after FDC1)
9:40 11-Apr-2009, stopped, 36 events in about 12 hours

1-Apr-2009 .

joker(400x3@0x3t) upstream of FDC2, 745V
HOD 1730V-alpha

FDC2/3 at -440mm/14.5deg

1310 trig=Joker(400x30@)*HOD(sigmali*D), FDC2/FDC3, cosmic ray
from 12:15 11-Apr-2009
20:00 11-Apr-2009, stopped, 3475 events

{appa power supply, OA/OFF

pC2/3 at Omm, @deg

311 trig=Joker(400x300)*HOD(sigmal*D), FDC2/FDC3, cosmic ray

from 20:36 11-Apr-2009
7:20 12-Apr-2089 stopped, 4942 events

—————— 12-Apr-2009
put dER on the beam line after BDC, put source toward upstream

2312 trig=(A*B)*(dER) beta

BDC tests using beta-ray, triggered by A*@

0313 - 0329

Hodoscope test using 137Cs, trigger=HODCU*D)
2330 137Cs @H3

0331 137Cs @HS

0332 trig=HODCU*D)*JokerL, FDC2/3/hod @@deg

addind iso-Alchohol into bubbler ¢
o K%awéu/nsl#w
©333; trig=HODCU*D)*JokerL, FDC2/3/hod @odeg,

15:00~12-Apr-2009 started

11:15 17-Apr-2009 stopped, 51278 events in 5 days

keep Joker_L & HOD
add Jgker_\S upstream of BDC, Joker_M downstream of FDCL
HV-13}UOV, Vth=-30mV(mon)

trig=Joker_S*Joker_M, BDC*FDCL, cosmic,
start: 15:45 17-Apr-2009 -
stopper at 21:00 17-Apr-2009, 715 events

0334 |

HV of|joker S&M 1300V -> 1200V

0335 trig=JokerS*M, BDC&FDC1, cosmic, HV(I)=1.2KV
22:00 17-Apr-2009,
stoppet at 6:10 18-Apr-2009 , 170 events

change/ gas bottle from #2(18kg left) to #3(114kg)
move jpker_S from upstream to downstream of BDC

0336 trig=Joker_S*Joker_L, FDC1(BDC), cosmic
8.00 18-Apr-2009

0337 trig=Joker_S*Joker_L, FDC1(BDC), cosmic
1:37 24-Apr-2009
- JUNK fot
. am
0238 trig=Joker_S*Joker_L, FGC1(BDC), cosmic 4+ Mrﬁfe
4:38 24-Apr-2009

15:51 27-Apr-2009 stop
FDCZ F/S HV tripped.
THV(DC) all off

4/27-4/28

for beta tests

Joker_s downstream of BDC, HV=110@V, source from upstream
Joker_M dowmstream of FDC1, HV=1100V, source from upstream
Joker_L upstream of FDC2, HV=725V, source from downstream

0341 FDC3, beta, +1400/-2500V
0342 scratch
0343 FDC2, beta, -3100/-1944V

0344 FDC2/FDC3, beta +1400/-2500, -3100/-1944V

0345 FDCIK, beta, +1750/-2500V
0346 BDC, beta, -2750v

i

-10 0 10
ID=1.N=480
xdx Bx

ID=4,N=7092
xdx Fly

-10 4 10
ID=2,N=490
xdx By

A s
Oﬁ‘

ID=5,N=248
xdx F2x
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c .
[ analyser.doc -----~ Kappa commissioning, 3-May-2009 TK

c

c--- Analyser 1 ----Beam/dE scintillator

c

! iD: 1 2 3 4

! F12A F12B dEL dER

1

U W 1 2 3 4 5 6 7 8

! h] <T> <A> d7 Tl Tr Al Ar

1 12 13 14

! <T>_c <A>_c dT_c

c

C--- Andlyser 3 --- HOD from FERA/TFC+FERA

c

c ID: 1:7 Hodoscope

c

[ Word#: 1 2 3 4 5 6 7 8
c D <T> <A>_cal dT - T_r T1 A_r Al
c

4 9 10 11 12 13 14 15 16
c XfromA sqgrt(A) Z

c

¢--- Anatyser 4 --~ raw TDC

c

¢ Plane.ID

[ 1 2 3 4 5 6 7 8 9 10

c Bx1 Bx2 Bx3 Bx4 Bx5 Byl By2z By3 By4 ByS 1 8(X), 8(Y)
c .

c 11 12 13 14 15 16 17 18

[d Fixl F1x2 Fix3 Flx4 Flyl Fily2 Fly3 Fly4 T 120X, 5CY)

c -

4 21 22 23 24

< F2x1 F2X2 F2x3 f2x4 : 28(X)

c

X 31 32 33 34 35 36 37 38 39

c F3x1 F3x2 F3x3 F3x4 F3x5 F3yl F3y2z F3y3 F3y4 : 15(X), 10(Y)
c

c Wire_ID: = 100*ID.plane + IW

P

c v 1 2 3 4

c Ip TDC(rising) TDC(trailing) Edge(1:L,2:T,3:LT)

c Iw 5 6 7

4 dr(L-T) wire order plane order

¢ statistics

c ID=9991 wl1(ID), w2(total word count)

c ID=9992 wi(id), w2...wle(m_modl, m_mod2,...,m_mod1@)

c

c--- Analyser 5 --- fastest TDC in one wire

c

C  ID=10@*IP+IW: TOC(W2), X(W3)
c
¢ ID=IP : Wire_multipliciry/plane (W2)

c
c--- Analyser 6 --- track golden events

c

¢ track summary : y= a + b*z

c Bx By Flx Fly F2x F3x F3y

c id= 10*itype(l:7)+itr(1) 111, 21, 31, 41, 51, 61, 71

c

c wt: 2 3 4 5 [ 7

[ a b(x') #planes chisq -1000 #good track

c

< redidue

c id= 100*itr(1) + ip(1:39) 1101,1@2,103... for 1st track for plane:1,2,3
c

c Wi 2 3 4 5 6 7

c iw x dx tdc x_cell z

c .

c--~ Analyser 7 --- track ml & fastest hits -
c

c outout format is the same as analyser 6

-

€--- Analyser 8 --- combine golden track events -----—-w—-wooo
c
€ upstream track_X: Bx(1), Fix(3)

val(l,naok)= 11 tid=11 upstream(X)

val(2,naok)= xt Ix_target

val(3,naok)= xp_tfl !Angle_after_target(X)
val(4,naok)= sxp_up !Scattering_Angle_upstream(X)
val(5,naok)= xp_upg !upstream incident angle (global)
val(6,naok)= vali(3,iok(1))-xp_upg Ixp(Bx)-xp(global)
val(7,naok)= vali(3,1iok(3))-xp_upg 1xp(F1x)-xp(global)

c
€ upstream track_Y: By(2), Fly(4)
val(i,naok)= 12 !id=12 upstream(Y)
val(2,naok)= yt ly_target
val(3,naok)= yp_tfi !Angle_after_target(Y)
val(4,naok)= syp_up !Scattering_Angle_upstream(Y)
val(5,naok)= yp_upg !lupstream incident angle (global)
val(6,naok)= vali(3,iok(2))-yp_upg {yp(By)~yp(global)
val(7,naok)=. vali(3,iok(4))-yp_upg 'yp(F1y)-yp(global)

an

downstream X: F2x(5), F3x(6)
val(l,naok)= 13 1id=13
val(2,naok)= xp_dng !xp(F2X-F3X) global downstream angle

val(3,naok)= dxp2 Ixp(F2x)-xp(F2x-F3x)
val(4,naok)= dxp3 Ixp(F3x)-xp(F2x-F3x)
val(5,naok)= x_f2c lextrapolate F3X track to.F2X
val(6,naok)= dx_f2 textrapolation difference

c
¢ horizontal bending angle
val(l,naok)= 14
val(2,naok)= xp_dng-xp_tfi 'bending angle (w target scattering)
val(3,nack)= xp_dng-xp_upg tbending angle (w/o target scattering)
ang2= angle_offset/rad_to_deg-val(2,naok) Ibending angle in rad
ang3= angle_ostet/rad_to_deg—val(3,naok) !bending angle in rad
val(4,naok)= 0.3*b1*1000.0/ang2 IR [MeV/c]
val(5,naok)= 0.3*b1*1000.0/ang3 IR [Mev/c]
c

c vertical bending angle
val(l,naok)= 15 "
val(2,naok)= yp_dng-yp_upg lvertical scattering angle (w/o target scattering) 2 *~k"f
val(3,naok)= yp_tfl-yp_dng Ivertical angle difference 5)

c ~§ b

c--- Analyser 9 --- combine track events

c

c--- analyser 11 --- print DC/HOD hits -

c
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41 XS . e g x3 X2 X1 l
g 1 4 | 4
s 3 ; s Ll
il 1 n n
i 3
i s b -
e 3 I 5 5 : ¢ 9, 4,1501,1505,2, 4000,0,4000,"T FDClyi"
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Next Raw Data File 7 [§7n: n] > Name <~ : Sum(M) ML MA. M5+ MWL MWZ MW
Mc2 ‘MC3 MC4+ . :Tot/And : 197082 51895 o s .
BOCkL. : 9884 89.79 8.40 .62 0.03  0.00 94.44 - 4.30 - 0.10. 0.00..92.95  5.60 0.27 0.
BDCx2 1 99.50.:86.27 .09 .-0.01 '93.10 6.24 - 0.15 0.01 91.08 7.80 " 0.59 o,
BOCx3 i .99.62 85.64 0,16 0.01 92.21 7.15. 0,25 0.0 '91.09 7.83 -0.66 0.
BDGHA" “85.93 0.13°770.017:92.59 " 6.75. 0,22 - 0.1 91.03 7.91  0.58 0.
. BDCxS H 84,92 0.19-70.00 91.55..°7.84 - .31 0.0l 91.02 7.97 0.66 0.
BDCyL 85.70 9.14.7 0.02 .92.35 | 6,97 0.30. 0.01 91.18 - 7.80 0.62 @
BOCY2 85.17" 1i73'0i20 0,01 91.76 7.63 .0.31 ©0.01 91.00 7.9 ©.71 0
U BBGy3 85.39 12 161 0.15 - 0.01 :91.97 7.39 - 0.27° 0.00. 9118 7.7 0.65 ' 0
BOCy4 | : 85.64 12.32 1,47 0.13 -0.01 92.50 6.84 0.22 0.01:90.88 - 8.04 0.62 0
JBDCyS H :88.67°: 9.44 0.80 €.05 .01 93.80  5.04° 0.12°7 0,00 '92.41 6.22 '0.32- 0
FOCIX1 : 92.11 /5.44 0.27. 0.0 0.00 96.01  1.82 0.01 0.e0 93.51 . 4.16 0,16 ©
FDC1x2 91.25 5.15 ~0.24 0.01 0.00 95.50 . 1.14 ‘0.01 ©.00 9192 4.54 0.19 0
FDC1x3 AT 64.4%) 2.73  0.22.-0.01. 0.0, 65.53° 1.8 ©0.02 ©.00 66.03 1.26: 0.09 0
" FDCix4 291,59+ 7.53 70,46 -0.03 - 0,00 97.20. 2.49 . 0:01° 0.00 93:66 '5.71. 0.23 0
FDCiyL 9130 7.47 0.48. .0.03° 0.00 96.40 2.84 ©.03 0.00. 93.82 5.21 .0.22 0.
. FDCly2 . ©90.25 8.78 ' 0.73 9.07 0.01 .95.22- 4,53 . 0.08 0.00 93.78 S.74 - 0.29 . 0.
FDCly3 .89.31° 9.48..0.97°  0.07 . ©0.00 94.33 . 5.40 vo'll 0,00 93.58 5.84° 0.40° ¢
FOC1y4 91,90, 5.26°70.23. 0.01 .0.00° '95.39. 1,99 0.01° 0.00.93.69 3.58 .0.12 O,
FDC2x1 't -.84.76" 10,34 © 0,92 0.06 0.00 895,96 -5.90 ©0.21 0.00 88.50 7.16 0.40 ©.
FoCx2 " & 83146 -11.77 1.14.'0.08° 0.01 89.21 6.9 0.30° 0.01 &.88 8.07 0.50 0
FDC2x3 83,24 12.09. 1.23 0.10 . 0.01.89.20. 7.16 0.29 0.01 87.87 8.26 ~ 0.50. 0.
FDCZx4 . 82:49 12.58 1.36° 0.13 - 0.91.'88.75 - 7.47 9.35 .~ 0.01. 87.51 8.49 Q.55 0.
'FDC3x1 "86.33 : 12,13 1.35 0,17  ©.02 90,45 < 9.10 -0.42 0.02 92.37 - 6.70. ©.39 0.
FDC3x2 0. 84.53' 13.37 . 1.87 0.21 °.0.03 38.71 19.56. ©.70. 0.03 91.66 7.73  0.58 2.
FDC3x3 85.19..12.90 1.73 . .0.15 0.03 89.25 '1¢.04 ' 0.70 ©.02 91.83 7.63 .47 0.
FDC3x4 84,71 13.23 1.81° 0.21 0.02 88.72. 10.60. 0.64 . 0.03 91.82 7.60 9.54 0.
FOC3XS ¢ §5.43 -12.91 1.49° 0.15 .0.02 '89.57 9.87 0.54 0.02 91.93 © 7.59 . 0.45 'O,
S FDC3yl :.100.00- 84.61 13.28 1.86 0.23: '0.03 88.58 10.71 0.69. 0.03 92.10 7.33 0.52 0.
FOC3y2. ¢ 100.00 84.70 13.27 1.79  0.21 0.03 88.87 -10.47 0.64 ©0.02 91.98 7.47 0.50 0.
EDC3y3 :.100.00. 85.05 12.91 1.82 0.20° 0.02 89.19 10.20, 0.5  0.02 92.86 7.40 .52 0.
Di3yé.': ©99.50 83.81° 13.55 1.89 0.23 0,02 87.84 10.85 078 0.03 91.03. 7.35 0.58 0.
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of i -ForaR3 1" padestal L3,

{ May-9 2009 21:03 cont. fera03.ped . Page 1
2 - . . .
19 0 0.468797386 ° 0.174932331 3. 1 0.524796963 0.531202614
1971 0.468797386 0,174932331 3, 1 0.524796963  0.531202614
19 2° 0.468797386- 0.174932331 3. 1 0.524796963 0.531202614
193 0.468797386 0.174932331 .3. 1 0.524796963 0.531202614
19 4 0.468797386 0.174932331 -3..1 0.524796963 0.531202614 -
. 19 5 0.468797386 0.174932331 -3, 1 0.524796963 ' 0.531202614 '
N 19 6 0.468797386 0.174932331 3. 1 0.524796963 0.531202614
19 7 0.468797386 0.174932331° 3. 1 - 0.524796963 0.531202614 '
19 8 0.468797386 0,174932331 3. 1 0.524796963 0.531202614
19 9 0.468797386 0,174932331 3. 1 '0.524796963 0.531202614 -~
19 1 0.468797386 0‘.174932331 0.524796963 0.531202614

19 11 0.468797386 0,174932331
1912  0.468797386 0.174932331
19 13 0.468797386 ~0.174932331
A9 14 0.468797386 0.174932331.

0.524796963 0.531202614
0.524796963 0.531202614
0.524796963 0.531202614
0.524796963 0.531202614

0w WW W W
e e

19 1 0.468797386 . 0.174932331 0.524796963 ' 0.531202614
21 0. 35.7328796 0.396600157. -3, 37 1.1898005 1.26712036 N
21 1 35.2544022 0.32713899. 3. 37 0:981416941 - 1.74559784"
21 2 33.4200172 0.304529905 3: 35 0.913589716 1.57998276
21 3 29.0640221 0.391144693 3. 31 1.17343402 1.93597794
21 4 40.1871262 0.340558439 '3, 42 102167535 1,81287384
21 5 42.928093 0.344035953 3, 44" 1.03210783 1.07190704
21 6 33.100853 '0.3403368 3. 35 1.0210104 1.89914703 .
21 7 34.5077972 .0.225456759. 3.'36 0.676370263 1.49220276
21 8 37.101841 0.326310188 3..39 0.978930593 - 1.89815903

9

37.6680145 0.364778578 '3, 39 .1.09433579 1,33198547
21 10 31.7222424 0.327458739 337 0.982376218 1.27775764
21 11 31.1631565 0.33465144 3,33 1.00395429 1.83684349 . 5
21 12 - 40.1192513 0.35198465 3. 42 1.05595398. 1.88074875 . g
21 13 29.121788 0.338413596 ' 3. 31 1.01524079 '1.87821198 ' B

- 21 14 35.0376053 0.344226718 3: 37 1.03268015. 1.96239471 . i
21715 36:4154091 0.289830267 - 3. 38 0.869490802 1.58459091 o i

7ayéf2609§21‘;oéw ’ ,contgtéraQS‘_QQ_O,iQQ;ped - _Paget - - I

2 - X R AT T e
19 0 0.468797386 0.174932331 3. 1 0.524796963 0.531202614 Q‘\G\L{M\a{ .
19 1 0.468797386 0.174932331 3. 1 '0.524796963 0.531202614 B :
- 9.2 1468797386 0.174932331 3. 1 0,524796963 ' 02531202614 =
H 19°3 -0.468797386 0.174932331 3..1 0.524796963 0.531202614 4
b 19 4  0.468797386 . 0.174932331 3. 1 0.524796963 '0.531202614 :
19 5 0.468797386 0.174932331 3. 1 0.524796963 10.531202614 -
19.6 0.468797386 0.174932331 3.1 0.524796963 . 0.531202614 N
19°7 - 0.468797386 0,174932331 3. 1 0.524796963 0.531202614 .
19 8 '0.468797386 -0.174932331 3. 1 0.524796963 0.531202614: b
19 9 0.468797386 0.174932331 3. 1 0.524796963 0.531202614
19 10 0.468797386 - 0.174932331 3.. 1 0,524796963 . 0.531202614 .
19 11 0.468797386  0.174932331 3. 1 0.524796963.. 0.531202614
19 12 -0.468797386 05174932331 3.1 ..0.524796963 .0.531202614
19 13- 0.468797386. 0.174932331 3.1 0.524796963 0.531202614 -
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